ISV E NNy

55
55
5]
2,9
2,1
2,5
2,
2,]

Suspension Leverage Ratio

180 200 220

Tighten with 5 Nm

loctite 243

Tighten with 15 Nm

loctite 243

C
\‘

Tighten with 15 Nm
loctite 24

Tighten with 15 Nm
loctite 24

14

Tighten with 15 Nm

loctite 244

Propain

Description

partnumber-version

1 001256-AJ Rage 21 Front triangle S2 1
2 001302-AG Rear triangle Rage CF S2 1
5 001300-A0 lower link Rage CF 2021 1
b 001301-AC Top Link Rage CF 2021 1
b 001535-AA bearing 20X37x9 2
6 001532-AA Bearing_10x26x8/11 2
1 000006-AA Bearing_15x28x7 b
8 001337-AA Axle_20dia_78mm_M10x] 1
9 000605-AB Tomm_clamp_Axle_Cap 2
10 001340-AB Clamp_ring_20mm_axle 2
1 001315-AB 20mm_Axle_Cap 2
12 001287-AA Bolt_M8x32_custom 1
13 001339-AA Female bolt 15x10d 2
14 001345-AB bolt 1T5x18mm M6 2
15 001346-AA TR mount bolt 10x18mm 2
16 001379-AA bolt M4 x 35 1
17 001376-AC bolt 78 x15 mm Tmm p ]
18 001536-AA M4 x 14 flathead din 6912 -
19 001392-AA Screw Mbx16 2
20 001537-AA M5 x 10 flathead din 6912 4
21 00005-AA Bolt_M5x12_countersunk 4
22 001538-AA M6 x 16 flathead din 6912 2
23 001317-AB Flip chip Rage CF 2021 2
24 001341 -AA Dust_cap_seal 20mm 2
25 001385-AA Dust_cap_seal trunnion bearing 2
26 001590-AA washer 15x2mm 2
27 001534-AA washer Tox4mm 2
28 001293-AA spacer 15x0.25 2
29 001578-AB conic washer expander 1
50 001380-AA washer 15x25x3 2
3l 001377-AB Nut M15 axle Rage 1
32 001463-AB barril 48x16 1
33 000179-AE ISCG_05_removable 1
3k 001324-AD Bumper Rage CF 1
35 001329-AB Brake adapter Rage 2021 1
36 001327-AB Hardware DSO 1
37 001328-AB Hanger DSIL 1
38 001441-AA Hanger DSIS 1
39 001407-AB Hardware NNDSO 1
40 001528-AA Hardware NNDSI Long 1
4] 001529-AA Hardware NNDSI Short 1
42 001405-AA rubber ring 2
43 000057-AA Cable_guide_1 2
iy 001462-AA Sixpack_Axle_x12_157 OLD 1
45 001591-AA Rage21 CS Cover 1
4b 001592-AA Rage 21 DT Cover 1
4] 001593-AA Rage 21SS Cover 1

RAGE - Standards

Shock length 225mm
Shock travel 7omm
Shock mount top 8mm x 30
Shock mount bottom trunnion
Rear wheel travel 215mm
Bottom bracket BSA 85mm
Brake mount PM200
Seat post diameter 31,6mm

Head set (S.H.L.S.)

Top: ZS56 / Bottom: ZS56

Rear wheel axle

Sixpack axle (157mm)

Rear hub width 157mm (Boost)
Chain line 56,5 mm
Chain guide mount ISCG 05

Tire size

29" (front) & 275"/29" (rear)

Maxium fork travel

203mm




